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Bt 5% FHEx FET
(EH)
I == 6 3,194,899 2,828,800
HE KA (3,022,328) (2,693,160)
E 7 172,571 135,640
Ha g A 8 24,601 24,344
2 B (47,719) (79,892)
THEZ (50,796) (47,766)
HERBARDNERSZE
REZEHRABERIE 9 (15,408) —
AIEERE FHREZEBR 10 (2,656) (1,535)
RIEEEREZATERYD (2,836) —
HEHERSE BHEREZ K 7,161 (174)
HERIEEERE 2 W= 27 —
REWMERTFELEM (ﬁ > 17,123 (7,595)
BENAERZEBR (795) -
HEBE A HER 2 K 11 - 10,304
RELEBHEAF 2 (BB ks 12 (125) 6,045
BhEENREE 6,118 6,267
i%ER 13 (3.657) (3,275)
B B Al g A1 14 103,609 42,363
S T 17 (16,569) (4,771)
KNE [E i F 87,040 37,592
FE1E
/NI =SSR IN 86,896 37,451
DHERRE S 144 141
87,040 37,592
1% B 18
— 2R 5,371 5,371
— R 12,085 5,371
17,456 10,742
BRAEN-EXR 19 32.4 Bl 13.9 &1l




